

SCHUR–HARMONIC CONVEXITY FOR DIFFERENCES OF SOME SPECIAL MEANS IN TWO VARIABLES

YING WU, FENG QI AND HUAN-NAN SHI

(Communicated by Alan Horwitz)

Abstract. In the paper, the authors find Schur-harmonic convexity of linear combinations of differences between some means such as the arithmetic, geometric, harmonic, and root-square means, and establish some inequalities related to these means and differences.

1. Introduction

In 2006, the following chain of inequalities for the binary means is given in [5].

THEOREM 1.1. ([5]) *Let $a, b \in \mathbb{R}_+ = (0, \infty)$. Then*

$$H(a, b) \leq G(a, b) \leq N_1(a, b) \leq N_3(a, b) \leq N_2(a, b) \leq A(a, b) \leq S(a, b), \quad (1.1)$$

where

$$A(a, b) = \frac{a+b}{2}, \quad G(a, b) = \sqrt{ab}, \quad H(a, b) = \frac{2ab}{a+b}, \quad N_1(a, b) = \left(\frac{\sqrt{a} + \sqrt{b}}{2} \right)^2,$$

$$S(a, b) = \sqrt{\frac{a^2 + b^2}{2}}, \quad N_3(a, b) = \frac{a + \sqrt{ab} + b}{3}, \quad N_2(a, b) = \frac{\sqrt{a} + \sqrt{b}}{2} \sqrt{\frac{a+b}{2}}.$$

The means $A(a, b)$, $G(a, b)$, $H(a, b)$, $S(a, b)$, $N_1(a, b)$, and $N_3(a, b)$ are called the arithmetic, geometric, harmonic, root-square, square-root, and Heron means respectively. The mean $N_2(a, b)$ can be found in [4].

In [2, 3, 5, 8], the differences of means

$$M_{SA}(a, b) = S(a, b) - A(a, b), \quad M_{SN_2}(a, b) = S(a, b) - N_2(a, b), \quad (1.2)$$

$$M_{SN_3}(a, b) = S(a, b) - N_3(a, b), \quad M_{SN_1}(a, b) = S(a, b) - N_1(a, b), \quad (1.3)$$

$$M_{SG}(a, b) = S(a, b) - G(a, b), \quad M_{SH}(a, b) = S(a, b) - H(a, b), \quad (1.4)$$

$$M_{AN_2}(a, b) = A(a, b) - N_2(a, b), \quad M_{AG}(a, b) = A(a, b) - G(a, b), \quad (1.5)$$

$$M_{AH}(a, b) = A(a, b) - H(a, b), \quad M_{N_2N_1}(a, b) = N_2(a, b) - N_1(a, b), \quad (1.6)$$

$$M_{N_2G}(a, b) = N_2(a, b) - G(a, b), \quad (1.7)$$

Mathematics subject classification (2010): Primary 26E60; Secondary 26B25, 26D20.

Keywords and phrases: Schur-harmonic convexity, difference, mean.

$$M_{AN_3}(a, b) = A(a, b) - N_3(a, b), \quad M_{AN_1}(a, b) = A(a, b) - N_1(a, b), \quad (1.8)$$

$$M_{N_2N_3}(a, b) = N_2(a, b) - N_3(a, b), \quad M_{N_2H}(a, b) = N_2(a, b) - H(a, b), \quad (1.9)$$

$$M_{N_3N_1}(a, b) = N_3(a, b) - N_1(a, b), \quad M_{N_3G}(a, b) = N_3(a, b) - G(a, b), \quad (1.10)$$

$$M_{N_3H}(a, b) = N_3(a, b) - H(a, b), \quad M_{N_1G}(a, b) = N_1(a, b) - G(a, b), \quad (1.11)$$

$$M_{N_1H}(a, b) = N_1(a, b) - H(a, b), \quad M_{GH}(a, b) = G(a, b) - H(a, b) \quad (1.12)$$

and

$$D_{SH-SA}(a, b) = \frac{M_{SH}(a, b)}{3} - M_{SA}(a, b), \quad (1.13)$$

$$D_{AH-SH}(a, b) = \frac{M_{AH}(a, b)}{2} - \frac{M_{SH}(a, b)}{3}, \quad (1.14)$$

$$D_{SG-AH}(a, b) = M_{SG}(a, b) - M_{AH}(a, b), \quad (1.15)$$

$$D_{AG-SG}(a, b) = M_{AG}(a, b) - \frac{M_{SG}(a, b)}{2}, \quad (1.16)$$

$$D_{N_2N_1-AH}(a, b) = M_{N_2N_1}(a, b) - \frac{M_{AH}(a, b)}{8}, \quad (1.17)$$

$$D_{N_2G-N_2N_1}(a, b) = \frac{M_{N_2G}(a, b)}{3} - M_{N_2N_1}(a, b), \quad (1.18)$$

$$D_{AG-N_2G}(a, b) = \frac{M_{AG}(a, b)}{4} - \frac{M_{N_2G}(a, b)}{3}, \quad (1.19)$$

$$D_{AN_2-AG}(a, b) = M_{AN_2}(a, b) - \frac{M_{AG}(a, b)}{4}, \quad (1.20)$$

$$D_{SN_2-SA}(a, b) = \frac{4M_{SN_2}(a, b)}{5} - M_{SA}(a, b), \quad (1.21)$$

$$D_{AN_2-SN_2}(a, b) = 4M_{AN_2}(a, b) - \frac{4M_{SN_2}(a, b)}{5}, \quad (1.22)$$

$$D_{SN_1-SH}(a, b) = 2M_{SN_1}(a, b) - M_{SH}(a, b), \quad (1.23)$$

$$D_{SG-SN_1}(a, b) = \frac{3M_{SG}(a, b)}{2} - 2M_{SN_1}(a, b), \quad (1.24)$$

$$D_{SN_3-SA}(a, b) = \frac{3M_{SN_3}(a, b)}{4} - M_{SA}(a, b), \quad (1.25)$$

$$D_{SN_1-SN_3}(a, b) = \frac{2M_{SN_1}(a, b)}{3} - \frac{3M_{SN_3}(a, b)}{4}. \quad (1.26)$$

were considered and obtained the following theorems.

THEOREM 1.2. ([5]) *The differences of means defined by (1.2) to (1.7) are non-negative and convex in \mathbb{R}_+^2 .*

THEOREM 1.3. ([3]) *The differences given in (1.2) to (1.7) are Schur-geometrically convex in \mathbb{R}_+^2 .*

THEOREM 1.4. ([8, Theorem 3.1]) *The differences of means listed in equations (1.2) to (1.12) are Schur-harmonically convex on \mathbb{R}_+^2 .*

THEOREM 1.5. ([2]) *The differences given by (1.13) to (1.26) are Schur-geometrically convex in \mathbb{R}_+^2 .*

In [7], some inequalities for differences of power means in two variables were obtained.

In this paper, we will prove that linear combinations of differences (1.13) to (1.26) are Schur-harmonic in \mathbb{R}_+^2 and establish some inequalities of these differences of means.

2. Definitions and a lemma

In order to verify our main results, we need the following definitions and lemma. It is general knowledge that a set $\Omega \subseteq \mathbb{R}^n$ is said to be convex if

$$\lambda x + (1 - \lambda)y = (\lambda x_1 + (1 - \lambda)y_1, \dots, \lambda x_n + (1 - \lambda)y_n) \in \Omega$$

for every $x, y \in \Omega$ and $\lambda \in [0, 1]$.

DEFINITION 2.1. ([1, p. 8 and p. 80] and [6]) Let

$$x = (x_1, \dots, x_n) \in \mathbb{R}^n \quad \text{and} \quad y = (y_1, \dots, y_n) \in \mathbb{R}^n.$$

1. The tuple x is said to be majorized by y (in symbols $x \prec y$) if

$$\sum_{i=1}^k x_{[i]} \leq \sum_{i=1}^k y_{[i]} \tag{2.1}$$

for $k = 1, 2, \dots, n - 1$ and

$$\sum_{i=1}^n x_i = \sum_{i=1}^n y_i, \tag{2.2}$$

where $x_{[1]} \geq \dots \geq x_{[n]}$ and $y_{[1]} \geq \dots \geq y_{[n]}$ are rearrangements of x and y in a descending order.

2. A function $\varphi : \Omega \subseteq \mathbb{R}^n \rightarrow \mathbb{R}$ is said to be Schur-convex on Ω if $x \prec y$ on Ω implies $\varphi(x) \leq \varphi(y)$. A function φ is said to be Schur-concave on Ω if and only if $-\varphi$ is Schur-convex.

DEFINITION 2.2. ([9, Definition 1.3]) Let $\Omega \subset \mathbb{R}_+^n$.

1. A set Ω is said to be harmonically convex if $\frac{xy}{\lambda x + (1 - \lambda)y} \in \Omega$ for every $x, y \in \Omega$ and $\lambda \in [0, 1]$, where $xy = \sum_{i=1}^n x_i y_i$ and $\frac{1}{x} = \left(\frac{1}{x_1}, \dots, \frac{1}{x_n}\right)$.
2. A function $\varphi : \Omega \rightarrow \mathbb{R}_+$ is said to be Schur-harmonically convex on Ω if $\frac{1}{x} \prec \frac{1}{y}$ implies $\varphi(x) \leq \varphi(y)$.

LEMMA 2.1. ([9, Lemma 2.4]) *Let $\Omega \subset \mathbb{R}_+^n$ be a symmetric and harmonically convex set with inner points and let $\varphi : \Omega \rightarrow \mathbb{R}_+$ be a continuously symmetric function which is differentiable on Ω° . Then φ is Schur-harmonically convex on Ω if and only if*

$$(x_1 - x_2) \left[x_1^2 \frac{\partial \varphi(x)}{\partial x_1} - x_2^2 \frac{\partial \varphi(x)}{\partial x_2} \right] \geq 0, \quad x \in \Omega^\circ. \tag{2.3}$$

3. Main results

Now we start out to state and verify our main results.

THEOREM 3.1. *The differences given by (1.13) to (1.26) are Schur-harmonically convex functions in \mathbb{R}_+^2 .*

Proof. It is easy to obtain that

$$\frac{\partial D_{SH-SA}(a,b)}{\partial a} = \frac{1}{2} - \frac{2b^2}{3(a+b)^2} - \frac{2}{3} \frac{a}{\sqrt{2(a^2+b^2)}}$$

and

$$\frac{\partial D_{SH-SA}(a,b)}{\partial b} = \frac{1}{2} - \frac{2a^2}{3(a+b)^2} - \frac{2}{3} \frac{b}{\sqrt{2(a^2+b^2)}}.$$

Hence,

$$\begin{aligned} & (a-b) \left[a^2 \frac{\partial D_{SH-SA}(a,b)}{\partial a} - b^2 \frac{\partial D_{SH-SA}(a,b)}{\partial b} \right] \\ &= \frac{2(a-b)^2}{3} \left[\frac{3(a+b)}{4} - \frac{a^2+ab+b^2}{\sqrt{2(a^2+b^2)}} \right] \\ &= \frac{\sqrt{2}(a-b)^2 [a^4+2a^3b+2ab^3+b^4-6a^2b^2]}{6\sqrt{a^2+b^2} [3\sqrt{2}(a+b)\sqrt{a^2+b^2}+4(a^2+ab+b^2)]} \\ &\geq 0, \end{aligned}$$

Thus, by Lemma 2.1, it follows that D_{SH-SA} is Schur-harmonically convex in \mathbb{R}_+^2 .
 Since

$$\frac{\partial D_{SG-AH}(a,b)}{\partial a} = \frac{a}{\sqrt{2(a^2+b^2)}} - \frac{b}{2\sqrt{ab}} - \frac{1}{2} + \frac{2b^2}{(a+b)^2}$$

and

$$\frac{\partial D_{SG-AH}(a,b)}{\partial b} = \frac{b}{\sqrt{2(a^2+b^2)}} - \frac{a}{2\sqrt{ab}} - \frac{1}{2} + \frac{2a^2}{(a+b)^2},$$

we have

$$\begin{aligned}
 & (a-b) \left[a^2 \frac{\partial D_{SG-AH}(a,b)}{\partial a} - b^2 \frac{\partial D_{SG-AH}(a,b)}{\partial b} \right] \\
 &= \frac{(a-b)^2}{2} \left[\frac{\sqrt{2}(a^2+ab+b^2)}{\sqrt{a^2+b^2}} - (a+\sqrt{ab}+b) \right] \\
 &= \frac{(a-b)^2 [(a^2+b^2)^2 + ab(a+b)^2 - 2\sqrt{ab}(a+b)(a^2+b^2)]}{2\sqrt{a^2+b^2} [\sqrt{2}(a^2+ab+b^2) + (a+b+\sqrt{ab})\sqrt{a^2+b^2}]} \\
 &\geq 0.
 \end{aligned}$$

Therefore, by Lemma 2.1, it follows that D_{SG-AH} is Schur-harmonically convex in \mathbb{R}_+^2 .

Because

$$\frac{\partial D_{AG-SG}(a,b)}{\partial a} = \frac{1}{2} \left[1 - \frac{b}{2\sqrt{ab}} - \frac{a}{\sqrt{2(a^2+b^2)}} \right]$$

and

$$\frac{\partial D_{AG-SG}(a,b)}{\partial b} = \frac{1}{2} \left[1 - \frac{a}{2\sqrt{ab}} - \frac{b}{\sqrt{2(a^2+b^2)}} \right],$$

we have

$$\begin{aligned}
 & (a-b) \left[a^2 \frac{\partial D_{AG-SG}(a,b)}{\partial a} - b^2 \frac{\partial D_{AG-SG}(a,b)}{\partial b} \right] \\
 &= \frac{(a-b)^2}{2} \left[a+b - \frac{\sqrt{ab}}{2} - \frac{a^2+ab+b^2}{\sqrt{2(a^2+b^2)}} \right] \\
 &\geq \frac{(a-b)^2}{2} \left[\frac{3(a+b)}{4} - \frac{a^2+ab+b^2}{\sqrt{2(a^2+b^2)}} \right] \\
 &\geq 0.
 \end{aligned}$$

By Lemma 2.1, it follows that D_{AG-SG} is Schur-harmonically convex in \mathbb{R}_+^2 .

Since

$$\begin{aligned}
 \frac{\partial D_{N_2N_1-AH}(a,b)}{\partial a} &= \frac{1}{4\sqrt{a}} \sqrt{\frac{a+b}{2}} + \frac{1}{4} \left(\frac{\sqrt{a}+\sqrt{b}}{2} \right) \left(\frac{a+b}{2} \right)^{-1/2} \\
 &\quad - \frac{1}{4} - \frac{b}{4\sqrt{ab}} - \frac{1}{8} \left[\frac{1}{2} - \frac{2b^2}{(a+b)^2} \right]
 \end{aligned}$$

and

$$\begin{aligned} \frac{\partial D_{N_2N_1-AH}(a,b)}{\partial b} &= \frac{1}{4\sqrt{b}}\sqrt{\frac{a+b}{2}} + \frac{1}{4}\left(\frac{\sqrt{a}+\sqrt{b}}{2}\right)\left(\frac{a+b}{2}\right)^{-1/2} \\ &\quad - \frac{1}{4} - \frac{a}{4\sqrt{ab}} - \frac{1}{8}\left[\frac{1}{2} - \frac{2a^2}{(a+b)^2}\right], \end{aligned}$$

we have

$$\begin{aligned} &(a-b)\left[a^2\frac{\partial D_{N_2N_1-AH}(a,b)}{\partial a} - b^2\frac{\partial D_{N_2N_1-AH}(a,b)}{\partial b}\right] \\ &= \frac{(a-b)^2}{16(\sqrt{a}+\sqrt{b})}\left[2\sqrt{2}\sqrt{a+b}(2a+3\sqrt{ab}+2b) - (\sqrt{a}+\sqrt{b})(5a+4\sqrt{ab}+5b)\right]. \end{aligned}$$

Because

$$2\sqrt{2}\sqrt{a+b}(2a+3\sqrt{ab}+2b) - (\sqrt{a}+\sqrt{b})(5a+4\sqrt{ab}+5b) \geq 0,$$

that is,

$$7(a^3+b^3)+6(a^2+b^2)\sqrt{ab} \geq 3(a^2b+ab^2)+20ab\sqrt{ab},$$

we have

$$(a-b)\left[a^2\frac{\partial D_{N_2N_1-AH}(a,b)}{\partial a} - b^2\frac{\partial D_{N_2N_1-AH}(a,b)}{\partial b}\right] \geq 0.$$

From Lemma 2.1, it follows that $D_{N_2N_1-AH}(a,b)$ is Schur-harmonically convex in \mathbb{R}_+^2 .

It is not difficult to obtain that

$$\frac{\partial D_{N_2G-N_2N_1}(a,b)}{\partial a} = \frac{1}{4} + \frac{b}{12\sqrt{ab}} - \frac{1}{6\sqrt{a}}\sqrt{\frac{a+b}{2}} - \frac{1}{6}\left(\frac{\sqrt{a}+\sqrt{b}}{2}\right)\left(\frac{a+b}{2}\right)^{-1/2}$$

and

$$\frac{\partial D_{N_2G-N_2N_1}(a,b)}{\partial b} = \frac{1}{4} + \frac{a}{12\sqrt{ab}} - \frac{1}{6\sqrt{b}}\sqrt{\frac{a+b}{2}} - \frac{1}{6}\left(\frac{\sqrt{a}+\sqrt{b}}{2}\right)\left(\frac{a+b}{2}\right)^{-1/2}.$$

Consequently,

$$\begin{aligned} &(a-b)\left[a^2\frac{\partial D_{N_2G-N_2N_1}(a,b)}{\partial a} - b^2\frac{\partial D_{N_2G-N_2N_1}(a,b)}{\partial b}\right] \\ &= \frac{(a-b)^2}{12(\sqrt{a}+\sqrt{b})}\left[(\sqrt{a}+\sqrt{b})(3a+\sqrt{ab}+3b) - \sqrt{2(a+b)}(2a+3\sqrt{ab}+2b)\right]. \end{aligned}$$

It is clear that replacing \sqrt{a} and \sqrt{b} by a and b in

$$(\sqrt{a}+\sqrt{b})(3a+\sqrt{ab}+3b) - \sqrt{2(a+b)}(2a+3\sqrt{ab}+2b) \geq 0$$

reduces to

$$a^3 + b^3 + 2ab\sqrt{ab} \geq 2a^2b + 2ab^2.$$

Let $f(u) = u^6 - 2u^4 + 2u^3 - 2u^2 + 1$ for $u \geq 1$. Then

$$f'(u) = 6u^5 - 8u^3 + 6u^2 - 4u, \quad f''(u) = 30u^4 - 24u^2 + 12u - 4 > 0,$$

and $f'(u) \geq f'(1) = 0$ for $u \geq 1$. So $f(u) \geq f(1) = 0$ for $u \geq 1$. Without loss of generality, assume that $b \geq a$ and let $u = \sqrt{\frac{b}{a}}$, then $f(u) \geq 0$ becomes

$$a^3 + b^3 + 2ab\sqrt{ab} - 2a^2b - 2ab^2 \geq 0.$$

As a result,

$$(a - b) \left[a^2 \frac{\partial D_{N_2G-N_2N_1}(a, b)}{\partial a} - b^2 \frac{\partial D_{N_2G-N_2N_1}}{\partial b} \right] \geq 0.$$

From Lemma 2.1, it follows that $D_{N_2G-N_2N_1}(a, b)$ is Schur-harmonically convex in \mathbb{R}_+^2 .
 Since

$$\frac{\partial D_{SN_2-SA}(a, b)}{\partial a} = \frac{1}{2} - \frac{a}{5\sqrt{2}(a^2 + b^2)} - \frac{1}{5} \sqrt{\frac{a+b}{2a}} - \frac{\sqrt{a} + \sqrt{b}}{5\sqrt{2}(a+b)}$$

and

$$\frac{\partial D_{SN_2-SA}(a, b)}{\partial b} = \frac{1}{2} - \frac{b}{5\sqrt{2}(a^2 + b^2)} - \frac{1}{5} \sqrt{\frac{a+b}{2b}} - \frac{\sqrt{a} + \sqrt{b}}{5\sqrt{2}(a+b)},$$

we have

$$\begin{aligned} & (a - b) \left[a^2 \frac{\partial D_{SN_2-SA}(a, b)}{\partial a} - b^2 \frac{\partial D_{SN_2-SA}(a, b)}{\partial b} \right] \\ &= \frac{\sqrt{2}(a - b)^2}{20(\sqrt{a} + \sqrt{b})\sqrt{a^2 + b^2}} [5\sqrt{2}(a + b)(\sqrt{a} + \sqrt{b})\sqrt{a^2 + b^2} \\ &\quad - 2(\sqrt{a} + \sqrt{b})(a^2 + ab + b^2) - 2\sqrt{a+b}\sqrt{a^2 + b^2}(2a + 3\sqrt{ab} + 2b)] \\ &= \frac{\sqrt{2}(a - b)^2}{40(\sqrt{a} + \sqrt{b})\sqrt{a^2 + b^2}} \{ (\sqrt{a} + \sqrt{b}) [3\sqrt{2}(a + b)\sqrt{a^2 + b^2} - 4(a^2 + ab + b^2)] \\ &\quad + \sqrt{a^2 + b^2} [7\sqrt{2}(a + b)(\sqrt{a} + \sqrt{b}) - 4\sqrt{a+b}(2a + 3\sqrt{ab} + 2b)] \} \\ &\geq 0. \end{aligned}$$

By Lemma 2.1, it follows that $D_{SN_2-SA}(a, b)$ is Schur-harmonically convex in \mathbb{R}_+^2 .
 Notice that

$$\begin{aligned} D_{AH-SH}(a, b) &= \frac{D_{SH-SA}(a, b)}{2}, & D_{AN_2-AG}(a, b) &= 3D_{AG-N_2G}(a, b), \\ D_{SG-SN_1}(a, b) &= D_{AG-SG}(a, b), & D_{AG-N_2G}(a, b) &= \frac{D_{N_2G-N_2N_1}(a, b)}{2}, \end{aligned}$$

$$\begin{aligned}
 D_{AN_2-SN_2}(a, b) &= 4D_{SN_2-SA}(a, b), & D_{SN_1-SH}(a, b) &= D_{SG-AH}(a, b), \\
 D_{SN_3-SA}(a, b) &= \frac{D_{AG-SG}(a, b)}{2}, & D_{SN_1-SN_3}(a, b) &= \frac{D_{AG-SG}(a, b)}{6}.
 \end{aligned}$$

So, the differences

$$\begin{aligned}
 &D_{AH-SH}(a, b), \quad D_{AN_2-AG}(a, b), \quad D_{SG-SN_1}(a, b), \quad D_{AG-N_2G}(a, b), \\
 &D_{AN_2-SN_2}(a, b), \quad D_{SN_1-SH}(a, b), \quad D_{SN_3-SA}(a, b), \quad D_{SN_1-SN_3}(a, b)
 \end{aligned}$$

are Schur-harmonically convex in \mathbb{R}_+^2 . The proof of Theorem 3.1 is complete. \square

COROLLARY 3.1. For $a, b \in \mathbb{R}_+$ and $0 \leq t \leq 1$, we have

$$A(a, b) - \frac{2}{3}S(a, b) \geq \frac{A(p_{a,b}(t), q_{a,b}(t)) - \frac{2}{3}S(p_{a,b}(t), q_{a,b}(t))}{p_{a,b}(t)q_{a,b}(t)} \geq 0, \tag{3.1}$$

$$S(a, b) - 2N_1(a, b) \geq \frac{S(p_{a,b}(t), q_{a,b}(t)) - 2N_1(p_{a,b}(t), q_{a,b}(t))}{p_{a,b}(t)q_{a,b}(t)} \geq 0, \tag{3.2}$$

$$\begin{aligned}
 &A(a, b) - \frac{1}{2}G(a, b) - \frac{1}{2}S(a, b) \\
 &\geq \frac{A(p_{a,b}(t), q_{a,b}(t)) - \frac{1}{2}G(p_{a,b}(t), q_{a,b}(t)) - \frac{1}{2}S(p_{a,b}(t), q_{a,b}(t))}{p_{a,b}(t)q_{a,b}(t)} \tag{3.3}
 \end{aligned}$$

$$\geq 0,$$

$$\begin{aligned}
 &N_2(a, b) - \frac{5}{8}A(a, b) - \frac{1}{2}G(a, b) \\
 &\geq \frac{N_2(p_{a,b}(t), q_{a,b}(t)) - \frac{5}{8}A(p_{a,b}(t), q_{a,b}(t)) - \frac{1}{2}G(p_{a,b}(t), q_{a,b}(t))}{p_{a,b}(t)q_{a,b}(t)} \tag{3.4}
 \end{aligned}$$

$$\geq 0,$$

$$\begin{aligned}
 &\frac{1}{2}A(a, b) + \frac{1}{6}G(a, b) - \frac{2}{3}N_2(a, b) \\
 &\geq \frac{\frac{1}{2}A(p_{a,b}(t), q_{a,b}(t)) + \frac{1}{6}G(p_{a,b}(t), q_{a,b}(t)) - \frac{2}{3}N_2(p_{a,b}(t), q_{a,b}(t))}{p_{a,b}(t)q_{a,b}(t)} \tag{3.5}
 \end{aligned}$$

$$\geq 0,$$

$$\begin{aligned}
 &A(a, b) - \frac{1}{5}S(a, b) - \frac{4}{5}N_2(a, b) \\
 &\geq \frac{A(p_{a,b}(t), q_{a,b}(t)) - \frac{1}{5}S(p_{a,b}(t), q_{a,b}(t)) - \frac{4}{5}N_2(p_{a,b}(t), q_{a,b}(t))}{p_{a,b}(t)q_{a,b}(t)} \tag{3.6}
 \end{aligned}$$

$$\geq 0,$$

where $p_{a,b}(t) = \frac{t}{a} + \frac{1-t}{b}$ and $q_{a,b}(t) = \frac{1-t}{a} + \frac{t}{b}$.

Proof. We only prove the inequality (3.1), since the rest can be proved similarly. It is easy to see that

$$\left(\frac{1}{2}\left(\frac{1}{a} + \frac{1}{b}\right), \frac{1}{2}\left(\frac{1}{a} + \frac{1}{b}\right)\right) \prec \left(\frac{t}{a} + \frac{1-t}{b}, \frac{1-t}{a} + \frac{t}{b}\right) \prec \left(\frac{1}{a}, \frac{1}{b}\right), \quad 0 \leq t \leq 1.$$

By Theorem 3.1, the difference D_{SH-SA} is Schur-harmonically convex in \mathbb{R}_+^2 . Hence,

$$\begin{aligned} D_{SH-SA}(a, b) &= \frac{a+b}{2} - \frac{2ab}{3(a+b)} - \frac{2}{3} \sqrt{\frac{a^2+b^2}{2}} \\ &\geq \frac{1}{2} \left[\left(\frac{t}{a} + \frac{1-t}{b}\right)^{-1} + \left(\frac{1-t}{a} + \frac{t}{b}\right)^{-1} \right] - \frac{2ab}{3(a+b)} \\ &\quad - \frac{2}{3} \sqrt{\frac{1}{2} \left[\left(\frac{t}{a} + \frac{1-t}{b}\right)^{-2} + \left(\frac{1-t}{a} + \frac{t}{b}\right)^{-2} \right]} \\ &\geq 0 \end{aligned}$$

which is equivalent to the inequality (3.1). The proof of Corollary 3.1 is complete. \square

Acknowledgements.

The authors thank the anonymous referee for his/her helpful suggestions to and valuable comments on the original version of this manuscript.

This work was partially supported by the NNSF of China under Grant No. 11361038 and the Foundation of the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous Region under Grant No. NJZY13159, China.

REFERENCES

- [1] A. W. MARSHALL, I. OLKIN, AND B. C. ARNOLD, *Inequalities: Theory of Majorization and its Applications*, 2nd Ed., Springer Verlag, New York-Dordrecht-Heidelberg-London, 2011. <http://dx.doi.org/10.1007/978-0-387-68276-1>.
- [2] H.-N. SHI, D.-M. LI, AND J. ZHANG, *Refinements of inequalities among difference of means*, Int. J. Math. Math. Sci. **2012** (2012), Article ID 315697, 15 pages. <http://dx.doi.org/10.1155/2012/315697>.
- [3] H.-N. SHI, J. ZHANG, AND D.-M. LI, *Schur-geometric convexity for differences of means*, Appl. Math. E-Notes **10** (2010), 275–284.
- [4] I. J. TANEJA, *On a difference of Jensen inequality and its applications to mean divergence measures*, RGMIA Res. Rep. Coll. **7** (2004), no. 4, Art. 16. <http://rgmia.org/v7n4.php>.
- [5] I. J. TANEJA, *Refinement of inequalities among means*, J. Comb. Inf. Syst. Sci. **31** (2006), no. 1-4, 343–364.
- [6] B.-Y. WANG, *Foundations of Majorization Inequalities*, Beijing Normal Univ. Press, Beijing, China, 1990. (Chinese)
- [7] S.-H. WU AND L. DEBNATH, *Inequalities for differences of power means in two variables*, Anal. Math. **37** (2011), no. 2, 151–159. <http://dx.doi.org/10.1007/s10476-011-0203-z>.

- [8] Y. WU AND F. QI, *Schur-harmonic convexity for differences of some means*, Analysis (Munich) **32** (2012), no. 4, 263–270. <http://dx.doi.org/10.1524/anly.2012.1171>.
- [9] W.-F. XIA AND Y.-M. CHU, *Schur-convexity for a class of symmetric functions and its applications*, J. Inequal. Appl. **2009** (2009), Article ID 493759, 15 pages. <http://dx.doi.org/10.1155/2009/493759>.

(Received May 5, 2013)

Ying Wu
College of Mathematics
Inner Mongolia University for Nationalities
Tongliao City, Inner Mongolia Autonomous Region, 028043, China
e-mail: wuying19800920@qq.com

Feng Qi
Department of Mathematics
College of Science
Tianjin Polytechnic University
Tianjin City, 300387, China
and
Institute of Mathematics
Henan Polytechnic University
Jiaozuo City, Henan Province, 454010, China
e-mail: qifeng618@gmail.com
qifeng618@hotmail.com
qifeng618@qq.com
<http://qifeng618.wordpress.com>

Huan-Nan Shi
Department of Electronic Information
Teacher's College, Beijing Union University
Beijing City, 100011, China
e-mail: shihuannan@yahoo.com.cn